PRACTICE 6D

Find the value of each of the following:

(a) (b) ()
1. 4%2 5x2 2X?2
2, 8+2 10 = 2 4+ 2
3. 6x2 9 %2 8 x2
4. 12+ 2 18 +2 16 + 2
5,14+ 12 2+12 20 = 2
6. Nathan arranged 20 chairs in 2 rows.

He put the same number of chairs in each row.
How many chairs were there in each row!?

7. Dan saved $2 a day.
How many days did he take to save $18!

8. Mrs. Ricci bought 2 kg of grapes.
1 kg of grapes cost $5.
How much did she pay for the grapes!?

9. Kevin had a rope 16 m long.
He cut it into 2 equal pieces.
Find the length of each piece.

10. Nicole makes 14 pies.
She wants to put 2 pies in a box.
How many boxes does she need!?
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